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Review #5 over Ch 10

Work all the problems on a separate piece of paper
showing all steps.

Solve and qgraph the following. Write your answers in interval
notation:

1) —-3x+522x-9 2) 6(3x—9)—2(4x+3)>6-x
3) —-3s<b5x+2<7 4) —-3x+2>—-T70r5-4x<1
5 5x+3>13o0r4(x+3)<-4 6) 7-3x>10and2x+527

Write the domain of the following in interval notation:

7)) f=4/9-4x 8)  g)=

Solve the following:

9) |3x+2]|-3=5x 10) 3|6-3x|-18=-12
11) |06x-03|+6= 4 12) | 2x-3]=]2x+15]

Solve the following. Write your answers in interval notation:

13) |7-3x|>5 14) | 2x-15]<3

15) | 9x-3]=12 16) |-6.5x+13|<39

17) |9+2x|<-3 18) |4-7x|=z-2
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Set-up the following as an inequality and solve:

19) The normal operating temperature for a certain computer is
between 60° F and 85° F inclusively. a) Write an inequality
representing the normal operating temperatures for this computer.
b) Write an inequality representing the abnormal operating
temperatures for this computer.

20) A two-inch screw will be rejected if its length varies by more
than £ 0.003 in. a) Write an inequality that represents this situation.
b) Solve the inequality and interpret what the solution means.

Sketch the graph of the following (be sure to label the axes):

21) 3x+2y<6 22) yZ—%x+5
23) x<=3y 24) y=-4x
25) y>-3 26) x<2

27) 3x—-2y=5 28) x-5y=0
29) 3x—y>1 30) y<%x+1

Solve the following systems by graphing. Label all vertices:

31) 3x—-2y<6 32) y—3xz24
y<%x—1 2x—-y<-3
33) 2x+3y>-9 34) 3x+4y =12
3x+4.5y<18 X—y=-2
1<x<3

Solve the following inequalities:

35) xX*—2x*—-9x+ 18>0 36) X5 <2
37) x><8x 38) (x—3)(2x +5)=(—2x + 3)x
2 3 2
39 _ bx-7x-3 >0 40 6x°-17x“+16 > _ 1
) x2-9 ) x* —6x3 +9x2
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Answers:
1)  Graph: H > 2) Graph: ¢ ‘-_Z,

14 6
5
Interval Notation: (- «, %] Interval Notation: (6, «)
3) Graph: [_) 4)  Graph: —
< >
-1 1
Interval Notation: [- 1, 1) Interval Notation: (— oo, o)
5)  Graph: (ﬂ ‘-—k 6) Graph: < .
-4 2
Interval Notation: (— o0, — 4] U (2, «) Interval Notation: &

7)  (=,225] 8) (—ow,—5)U(=5,1.5)U (1.5, )

9)  The solution is — % . 10) The solutions are % and %.

11) There is no solution. 12) The solutionis —9. 13) (- x, %) U (4, «)
14) [18,27]  15) (o, —1U[S, =) 16) (-4,8) 17) @
18) (—o0,0) 19a) 60°<F<85 19b) F<60° or F>85

20) |L—-2]>0.003; the screw will be rejected if the length is less than

1.997 inches or more than 2.003 inches.
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35) (=3,2)U(3,0) 36) (o, 2)U[4, ) 37) (-, 0)U(0,?2)
38) (—w,— 1.5]U[2.5,0)  39) (-3, — %] U[1.5, 3)
40) (- o0, —2)U (=2, 0) U (0, 2) U (2, 3) U (3, )



